I\

Compute pair-wise kinship
matrix for N SOI

Set m=1
\ 4

Consider m as the centre of a SOI subgroup

Set m=1

Yes If SOI
empty

SOI = SOI — SOI (subped)

Sort the relativesof m based on kinship
{R,(2)eR,(3)e--eR, (f)e---e R, (2B)} where g > &)

mf

A\ 4

A

m=N

m=m+1

Yes

Results in a matrix of subgroups
R(@2 RGB) - R(Y) - RWI)
R,(2) R,3) - R(f) - R,(N)

R,(2) R,3) - R,(f) - R,(N)
Ry(2) Ry@) - Ry(f) - Ry(N)

Iterateover R, if R, (f)is unique,U, ,, =1

Construct sub - pedigree for R, (/)

Compute bitsize, b
b<B Yes
f=f1
No
m=m+l
Yes m=N+1 o

Setf=1



